Quiz for Unit 6

1. Extensive reporting on television has helped to ________ interest in a wide variety sports and activities.

A gather B generate C assemble D yield

2. My brother’s plans are very ________ ; he wants to master English, French and Spanish before he is sixteen.

A abundant B ambitious C arbitrary D aggressive

3. Computer science is an ________ subject for law students at our university, and many students choose it.

A optical B option C opponent D optional

4. Most broadcasters maintain that TV has been unfairly criticized and argue that the power of the medium is ________.

A granted B implied C exaggerated D remedied

5. In the Chinese household, grandparents and other relatives play ________ roles in raising children.

A insensible B indispensable C incapable D infinite

6. In Britain people ________ four million tons of potatoes every year.

A swallow B dispose C consume D exhaust

7. Cancellation of the flight ________ many passengers to spend the night at the airport.

A result in B propel C demand D recommend

8. Operation which left patients________ and in need of long periods of recovery time now leave them feeling relaxed and comfortable.

A exhausted B abandoned C injured D deserted

9. When we fill in a form, we will usually write down our name, address, ________, etc.

A job B employment C occupation D profession

10. American boys and girls, with ________ and part-time jobs now have an annual purchasing power (购买力) of four billion dollars.

A wages B salaries C incomes D allowances

11. The Car Club couldn’t ________ to meet the demands of all its members.

A ensure B guarantee C assumes D confirm

12. They had a fierce ________ as to whether their company should restore the trade relationship which was broken many years ago.

A debate B clash C disagreement D contest

13. You should ________ being late for your class.

A avoid B miss C overtake D leave

14. Yong people are not ________ to stand and look at works of art; they want art they can participate in.

A conservative B content C confident D generous

15. We’d like to________ a table for five for dinner this evening.

A preserve B reserve C retain D sustain

16. The clothes a person wears may express his ________ or social position.

A curiosity B status C determination D significance
17. A season ticket ________ the holder to make as many journeys as he wishes within the stated period of time.

A grants B promised C entitles D presents

18. Since the matter was extremely ________, we dealt with it immediately.

A tough B tense C urgent D instant

19. The ________ side of his character has always preponderated over the emotional side.

A reasonable B rational C unreasonable D irrational

20. The neighborhood boys like to play basketball on that ________ lot.

A valid B vain C vacant D vague

II Complete the following sentences with phrases or expressions given below. Change the form where necessary.

1. If I tell the police I was with you that day, will you ________ me ________?

2. The Chinese government has ________ been combating drug trafficking.

3. She likes everything to be ________ before she starts work.

4. I love literature and admire a lot of famous writers, and I like Ernest Hemingway ________.

5. Don’t worry for my illness; what I need is________ a few days’ rest.

6. The friendly contacts between our two peoples ________ the 2nd century.

7. The wealthier emigrants ________ poverty by selling their jewels.

8. This candidate does not ________ our company’s philosophy.

9. Who is to ________ the company’s business when the boss is away?

10. Just think what would happen if every single woman ________ and refused to do housework.

III. Reading. Answer the following questions with the information from the passage.

PASSAGE 1

For many women choosing whether to work or not to work outside their home is a luxury: they must work to survive. Others face a hard decision.

Perhaps the easiest choice has to do with economics. One husband said“, Marge and I decide after careful consideration that for her to go back to work at this moment was an extravagance (奢侈) we couldn’t afford.” With two preschool children, it soon became clear in their figuring that with babysitters , transportation, and increased taxed, rather than having more money, they might actually end up with less.

Economic factors are usually the first to be considered, but they are not the most important. The most important aspects of the decision have to do with the emotional needs of each member of the family. It is in this area that husbands and wives find themselves having to face many confusing and conflicting feelings.

There are many women who find that homemaking is boring or who feel imprisoned if they have to stay home with a young child or several children. On the other hand, there are women who think that homemaking gives them the deepest satisfaction.

From my own experiences I would like to suggest that sometimes the decision to go back to work is made in too much haste. There are few decisions that I now regret more. I wasn’t mature enough to see how much I could have gained at home. I regret my impatience to get on with my career. I wish I had allowed myself the luxury of watching the world through my little girl’s eyes.

S1 Which word in the first two paragraphs best explains why many women have to work?

________________________________________________________________________

S2 Why did Marge and her husband think it an extravagance for Marge to go back to work?

________________________________________________________________________

S3 What are the two major considerations in deciding whether women should go out to work?

__________________________________________________________________________

S4 some women would rather do housework and take care of their children than pursue a career because they feel

___________________________________________________________________________

S5 if given a second chance, the writer would probably choose to

___________________________________________________________________________

PASSAGE 2

The currency crisis and economic slowdown in East Asia have posed a serious challenge to the United States, China and other Asian nations.

The nations of the Asia Pacific region, the United Stated and China included, understand that we must work together to find —for each of us and collectively—the appropriate mix of open markets, responsible government spending, efficient utilization of capital, appropriated levels of domestic consumption and investment. A turn away from the global economy would seriously limit our option. ( 选择).

China’s quick economic growth and its recognition of its growing responsibility to assist its trade partners, particularly in East Asia, have , in the Clinton Administration’s view, made it even more appropriated that China participates in World Trade Organization and it will further China’s integration into the world economic community. The United States welcomes China’s WTO participation on a commercially meaningful basis. We have been working hard with Chinese government to achieve that worthy goal.

S1 What common understanding did the nations of the Asia pacific region get under the pressure of economic slowdown?

_______________________________________________________________________________

S2 What made China welcome to enter WTO?

_______________________________________________________________________________

S3 China’s entry into WTO will further ______________________________?

S4 The United States welcomes China’s WTO participation on _______________ basis.

S5 What is the worthy goal (last sentence)? __________________________________________

______________________________________________________________________________

PASSAGE 3

Questions 1 to 5 are based on the following passage.

Another cultural aspect of nonverbal communication is one that you might not think about: space. Every person perceives himself to have a sort of invisible shield surrounding his physical body. When someone comes too close, he feels uncomfortable. When he bumps onto someone, he feels obligated to apologize. But the size of a person’s“ comfort zone” depends on his cultural ethnic origin. For example, in casual conversation, many Americans stand about four feet apart. In other words, they like to keep each other“ at arms length”, people in Latin or Arab cultures, in contrast, stand very close to each other, and touch each other often. If someone from one of those cultures stands too close to an American while in conversation, the American may feel uncomfortable and back away.

When Americans are talking, they expect others to respond to what they are saying. To Americans, polite conversationalists empathize by displaying expressions of excitement or disgust, shock or sadness. People with a “poker face”, whose emotions are hidden by a deadpan expression, are looked upon with suspicion. Americans also indicate their attentiveness in a conversation by raising their eyebrows, nodding, smiling politely and maintaining good eye contact. Whereas some cultures view direct eye contact as impolite or threatening, Americans see it as a sign of genuineness and honesty. If a person doesn’t look you in the eye, American might say, you should question his motives—or assume that he doesn’t like you. Yet with all the concern for eye contact, Americans still consider staring — especially at strangers — to be rude.

1. What the author discussed in the previous section is most probably about.

A) classification of nonverbal communication

B) the reasons why people should think about space

C) the relationship between communication and space

D) some other cultural aspects of nonverbal communication

2. How far people keep to each other while talking is closely associated with their _________ .

A) origin B) culture C) custom D) nationality

3. When an Italian talks to an Arabian on informal occasions,.

A) he stands about four feet away

B) “comfort zone” does not exist

C) keeping close enough is preferred

D) communication barriers may emerge

4. A “poker face” (Line 3,Para. 2) refers to a face which is .

A) attentive B) emotional C) suspicious D) expressionless

5. In a conversation between friends, Americans regard it as sincere and truthful to .

A) maintain direct eye contact

B) hide emotions with a deadpan expression

C) display excitement or disgust, shock or sadness

D) raise their eyebrows, nod and smile politely

PASSAGE 4

Questions 1 to 5 are based on the following passage.

We all know that DNA has the ability to identify individuals but, because it is inherited, there are also regions of the DNA strand which can relate an individual to his or her family (immediate and extended), tribal group and even an entire population. Molecular Genealogy (宗谱学) can use this unique identification provided by the genetic markers to link people together into family trees. Pedigrees (家谱) based on such genetic markers can mean a breakthrough for family trees where

information is incomplete or missing due to adoption, illegitimacy or lack of records. There are many communities and populations which have lost precious records due to tragic events such as the fire in the Irish courts during Civil War in 1921 or American slaves for whom many records were never kept in the first place.

The main objective of the Molecular Genealogy Research Group is to build a database containing over 100,000 DNA samples from individuals all over the world. These individuals will have provided a pedigree chart of at least four generationsand a small blood sample. Once the database has enough samples to represent the world genetic make-up, it will eventually help in solving many issues regarding genealogies that could not be done by relying only on traditional written records. Theoretically, any individual will someday be able to trace his or her family origins through this database.

In the meantime, as the database is being created, molecular genealogy can already verify possible or suspected relationships between individuals“. For example, if two men sharing the same last name believe that they are related, but no written record proves this relationship, we can verify this possibility by collecting a sample of DNA from both and looking for common markers (in this case we can look primarily at the Y chromosome (染色体)),” explains Ugo A. Perego, a member of the BYU Molecular Genealogy research team.

1. People in a large area may possess the same DNA thread because

A) DNA is characteristic of a region

B) they are beyond doubt of common ancestry

C) DNA strand has the ability to identify individuals

D) their unique identification can be provided via DNA

2. The possible research of family trees is based on the fact that

A) genetics has achieved a breakthrough

B) genetic information contained in DNA can be revealed now

C) each individual carries a unique record of who he is and how he is related to others

D) we can use DNA to prove how distant an individual is to a family, a group or a population

3. The Molecular Genealogy Research Group is building a database for the purpose of

A) offering assistance in working out genealogy-related problems

B) solving many issues without relying on traditional written records

C) providing a pedigree chart of at least four generations in the world

D) confirming the assumption that all individuals are of the same origin

4. If two men suspected for some reason they have a common ancestor,

A) we can decide according to their family tree

B) we can find the truth from their genetic markers

C) we can compare the differences in their Y chromosome

D) we can look for written records to prove their relationship

5. Which of the following CANNOT be inferred from the passage?

A) We are a walking, living, breathing record of our ancestors

B) Many American slaves did not know who their ancestors were.

C) An adopted child generally lacks enough information to prove his identity.

D) Molecular genealogy can be used to prove a relationship between individuals.

IV Translate the following sentences into Chinese

1. After everyone was seated, the chairman proceeded to announce his plan.

2. The farmer met with bad luck; his crops were destroyed by a storm.

3. To make a man perfectly happy, tell him that he is brilliant, or noble, or wise, or good.

4. We anticipate that we will meet a certain amount of resistance to our plan.

5. On behalf of everyone here, I'd like to thank our special guest for his entertaining speech.

V Translate the following sentences into English

1. 再没有收到过他的信，于是我们开始怀疑他是否还活着。
2. 她容貌秀美，举止优雅，很吸引人。

3. 显然，他总以为自己的学历和工作经历肯定会给人深刻的印象，但实际并非如此。
4. 医生建议说，有压力的人要学会做一些新鲜有趣、富有挑战性的事情，来发泄负面情绪。
5. 从医生的角度看，脾气越急躁的人越易于失控。因此他们往往容易患心脏病。

Key to Quiz for Unit 6

I. Answers of the choices

1. 答案：B 【解析】A. gather vt.vi. 意为聚集，集合，收集，采集。C. 意为集合，聚集，装配。D. vt. 有出产，生产出之意；vi. yield to 向⋯让步( 屈服) 之意。只有B generate vt. 产生，使发生才切合题意。【译文】电视的广泛报道有助于使人们对各种各样的体育及活动产生兴趣。
2. 答案：B 【解析】ambitious 意为有抱负的，雄心勃勃的；有野心的，符合题意；abundant 大量的，充足的；(in) 丰富的，富裕的；arbitrary 随意的，任意的；专断的，武断的，专制的；aggressive 侵犯的，侵略的，挑衅的；敢做敢为的，有进取心的。【译文】我弟弟的计划雄心勃勃；他想在16 岁之前掌握英语，法语和西班牙语。
3. 答案：D 【解析】optional 任选的；optical 光学的，光的；option 选择；opponent 对手。【译文】计算机对法律系的学生来说是选修课，许多学生都选了。
4. 答案：C 【解析】词义辨析题。grant同意，准许，承认，奖给。imply 暗示，意味。例如：Silence sometimes implies consent. 沉默有时暗指同意。exaggerate 夸大，夸张；remedy 治疗，补救，修正，修补。and 连接两个谓语部分是并列关系，意思上的解释说明或递进，根据and 前的部分，尤其是unfairly 的提示，显然，只有exaggerated 符合题意。【译文】大多数的广播公司认为电视受到了不公正的批评，他们争辩说媒体的力量被夸大了。
5. 答案：B 【解析】indispensable 必不可少的，必需的，符合题意。insensible 是sense 觉得，意识到的衍生词，表示不省人事；不能感觉的；并非是sensible 的反义词，incapable 无能力的，不会的；不可能的；无用的；无资格的；infinite 无限的，无穷的，无边无际的。【译文】在中国的家庭里，在培育孩子方面，祖父母或外祖父母及其他亲属都是不可缺少的角色。
6. 答案：C 【解析】这是一个词汇辨析题。四个选词的意思分别是: swallow 吞咽，吞没。例如：The increase in travel costs swallowed up our pay increase. 旅行费的增长抵消了我们付费的增长。dispose 处理，安排，除去。例如：I have disposed of my old clothes. 我已处理了我的旧衣服。consume 消耗，消灭，消费。例如：Arguing about details consumed many hours of the committee’s valuable time. 就细节的争论耗费了委员会大量宝贵的时间。exhaust 用尽，耗尽。例如：We had exhausted our supply of oxygen. 我们已经耗尽了供给的氧气。swallow 强调的是具体的吞咽动作，dispose 则有处理不要的意思，exhaust 强调用得一点都不剩，都不合题意。只有consume 符合题意。
7. 答案：B 【解析】动词辨析。A 致使，结果是；B 迫使；C 要求；D 推荐。【译文】航班的取消迫使许多乘客在机场过夜。
8. 答案：A 【解析】形容词辨析。A 极度疲劳，耗尽的；B 被废弃的，被抛弃的；C 受伤的；D被抛弃的，无人光顾的。【译文】以前让病人精疲力尽，需要长时间才能恢复的手术如今让病人感到轻松和舒服。
9. 答案: C 【解析】 job 一般指较具体的工作, 活儿; employment 指替别人做工领取薪水的工作, 含雇用之意，不可数名词; profession 指需接受高深教育及专门训练的专门职业, 例如律师, 医生, 会计师的职业；而occupation 则泛指职业, 故选C。【译文】填表格时, 我们通常会写下自己的姓名, 住址及职业等。
10. 答案:D 【解析】wage 和salary 指工资，income 统指收入; 而allowance 指生活津贴, 零用钱, 故选D。【译文】美国青少年靠生活津贴和业余打工达到了每年40 亿美元的购买力。
11. 答案: B 【解析】A ensure 意为“保证, 担保, 保险, 保护, 使安全, 虽有保证之意, 但其主要指保证安全(成功, 供应).B guarantee 意为对⋯提出担保, 许诺, 约定. 本句中的保证实有许诺, 答应之意, 故B 答案正确. 而C assume 假定, 设想, 承担, 接受,D confirm 进一步证实( 明) 意思不符。【译文】俱乐部不可能保证满足其所有会员的要求。
12. 答案:A 【解析】debate 意为争论, 辩论, 指持不同观点的各方据理力争并最终做出决定; clash 意为冲突，打斗; disagreement 指争执, 不符; contest 意为竞赛. 很显然对是否恢复贸易关系, 他们持不同观点, 需讨论决定。【译文】他们就公司是否应当恢复几年前中断了的这一贸易关系进行了异常激烈的争论。
13. 答案: A 【解析】avoid 避免, 强调有意避免, 是主观行为.miss 也有逃避之意, 但不强调主观意识,leave离开,overtake 突然遭遇, 意义不合题意。【译文】你应该避免上课迟到。
14. 答案:B 【解析】在有分号间隔的句子中，后一个句子往往是对前一个句子的补充和说明，在意思上是一致的，从后一句中的“他们要参与”，可以推知，“他们对只是站在一边看不满意。”conservative 保守的，守旧的；content 满足的，满意的，愿意；confident 自信的，确信的；generous 慷慨的，大方的。【译文】年轻人不满足于站着观看艺术作品，他们需要他们能参与的艺术。
15. 答案:B 【解析】本题为词义辨析题.B reserve 预定, 符合题意.A 保养, 维持;C 保留, 保存;D 维持, 保持，干扰项中文意思相近,需结合英文解释及例句进行记忆。【译文】我们想预定今晚一台五人的晚餐位。
16. 答案:B 【解析】这是一个词汇辨析题. 根据空格后的or 可知空格处的意思, 空格后的social position 是对空格前的词的解释说明, 在本题中应该是其同义, 近义词, 显然,B status ( 身份, 地位) 与social position( 社会地位) 的意思相近, 且使句子意思通顺. 其他三个词的意思分别是：curiosity 好奇, 求知欲, 奇怪的事；determination 决定，确定，建议；significance 意义, 价值, 重要性, 含义, 意思。【译文】一个人的穿着可以显示他的身份或者社会地位。
17. 答案:C 【解析】entitle sb. to sth. 或entitle sb. to do sth. 意为:使某人有权利( 资格) 得到⋯。因此,C 为正确答案.A. grant 意为：允许, 准许, 答应给与, 其用法是grant a favor /request 或 grant sb. permission /a request to do sth. B. promise 意为：答应, 许诺, 用法是promise sb. sth. 或promise sb. to do sth.; D present 意为：给, 赠，交出, 提出, 用法是present sth. to sb. 或present sb. with sth. 【译文】季节票可使持票人有权在规定期限内随意多次旅游。
18. 答案:C 【解析】四个选项意思分别为：A 坚韧的, 坚强的, 不屈的, 难对付的; B 绷紧的, 紧张的; C 紧急的; D 立即的, 迅速的; 句子后半部分we dealt with it immediately 暗示了情况紧急, 故选C。【译文】因为事情特别紧急, 我们马上进行了处理。
19. 答案:B 【解析】rational 强调有思考, 推理的能力, 和“无理性的”( 如动物就没有思考, 推理的能力),“感情用事的”，“凭想象或冲动”形成对照。reasonable 侧重“合情合理的”，“有道理的”，暗示行为或要求不过火，如：I’ll buy it if the price is reasonable. 要是价格合适我就把他买下来。【译文】他个性中理智的一面总是可以压倒感性的一面。
20. 答案:C 【解析】本题是词义辨析题. 词义分别为A. valid 有效的, 正当的, B. vain 空虚的, 虚荣的; C. vacant 空闲的；D vague 茫然的；vacant lot 空地，符合题意。【译文】附近的男孩子们喜欢在那块空地上打篮球。
II. Answers of phrases

1. back up 【译文】假若我对警方说那天我和你在一起, 你肯为我这个说法作证么/ 为我作证么?

2. all along 【译文】中国政府一直打击毒品运输等犯罪行为。__3. in place 【译文】她喜欢东西都摆好再开始工作。
4. in particular 【译文】我喜爱文学，并且崇拜许多著名的作家，我尤其喜欢欧内斯特·海明威的作品。
5. nothing but 【译文】不要为我的病担心, 我只要稍微休息几天就会好的。
6. go back to 【译文】我们两国人民之间的友好往来一直可以追溯到公元二世纪。
7. staved off 【译文】外国移民中比较有钱的人们变卖珠宝, 以避免困窘。
8. sit well with 【译文】这个竞选者不适合我们公司的哲学理念。
9. take charge of 【译文】老板不在的时候，谁会负责公司的业务呢?

10. go on strike 【译文】试着想一下，假如每个单身女子都罢工拒绝做家务，那将会发生什么事情呢?

III. Answers of Reading

Passage One

S1 Survive (Survival/ Surviving) Economics Money

S2 They might end up with less money.

S3 Economic factor and emotional needs.

S4 the deepest satisfaction

S5 The writer would choose to stay home/take care of her daughter at home.

Passage Two

S1 They understand that they must work together. 【解析】该题为事实与细节题, 根据题干相关单词回到原文第二段第一句话, 即可发现答案。
S2 China’s quick economic growth and its recognition of its growing responsibility to assist its trade partners particularly in East Asia. 【解析】该题为事实与细节题, 文中第三段第一句话说明了欢迎中国加入WTO的因素。
S3 China’s integration into the world economic community. 【解析】该题也是事实与细节题, 文中第三段第一句话中有明确的说明。即：中国入世将会使中国进一步融入到全球经济体系当中。
S4 On a commercially meaningful basis.【解析】此题为事实与细节题, 文中第一段第二具有明确说明。
S5 China’s entry to WTO. 【解析】此题为推理判断题, 根据全篇文章来看, 东亚金融危机知识经济下滑, 是亚太地区,美国和中国意识到合作的必要性.中国经济的持续增长使美国意识到中国进入WTO能够给美国和其他国家带来好处, 这促使美国做出决定, 争取使中国实现加入WTO 这一有价值的目标。
Passage Three

1.D) 2. B) 3. C) 4. D) 5. A)

Passage Four

1. B) 2. C) 3. A) 4. B) 5. C)

IV. 1. 大家就坐以后，主席开始宣布他的计划。
2. 这个农民运气不佳，他的庄稼全被暴风雨毁了。
3. 想取悦一个男人，你可以告诉他，他是个才华横溢、彬彬有礼、智慧超群的好人
4. 我们意料到我们的计划会遇到一些阻力。
5. 我代表大家感谢嘉宾的精彩讲演。
V 1. Nothing more was heard from him so that we began to wonder if he was still alive.

2. Her good looks and elegant manners are very attractive.

3. Obviously, he takes it for granted that his educational background and work experience are surely impressive. But actually they are not.

4. The doctor recommends that those stressed people should try some new interesting and challenging things in order to give their negative feelings an outlet. 5. From a doctor’s viewpoint, the hotter people get, the more likely they are to lose control. Consequently, they tend to suffer from heart disease.
take charge of 	go back to	 	nothing but 		back up 		in particular


all along 			go on strike 		in place 			sit well with 	stave off








